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) SERMO TinlCHEET S Z(ER A
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&S X 4 s | Tinh oD EERE jjo)jt%f‘é X 4 TiEMLDKE | H& jijafé R 4 B | LS OEE jijafé K 4 Lighsnlks | B jjo)qu:g
(m) (m) (kN/ i) EEBfE(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEFBZD ~ -
s 1.00 | 0.00 ~ 6.13 76.95 | ThS | 0oo ~ 000 | 1.70 8.57 st 1.00 | .00 ~ 7.10 76.95 | ThSY | 5.00 ~ 7.10)| 1.70 8567
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % -~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 691 87.59 | #nS | 0oo ~ 691 1.94 9851 st 1.00 | 5.00 ~ 9.20 87.59 | =h4 | 5,00 ~ 9.20| 1.94 9.81
3 100kN/mM%#BZ % ~ -|3mEBZD ~ -] 100kN/m%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 741 94.53 | #nRS | 000 ~ 741\ 1.88 9.48 st 1.00 | 5.00 ~ 9.90 94.53 | =nS | 5,00 ~ 990 | 1.88 9.48
4 100kN/m%E#8z5 | 1.00 | 000 ~ 052 107.64 |3mE8Bz% ~ -] 100kN/ %825 | 1.00 | 11.22 ~ 1270 107.64 |3m%EiBZ% ~
s 1.00 | 0.62 ~ 830 100.00 | =4t | ooo ~ 830|238 12.04 st 1.00 | 6.00 ~ 1122 100.00 | =nst | 6.00 ~ 1270| 2.38 12.04
5 100kN/m%E#8z5 | 1.00 | 000 ~ 025| 10374 |3mEBz% ~ -] 100kN/ %8825 | 1.00 | 11.63 ~ 1253 10374 |3m%EiBZ% ~
s 1.00 | 025 ~ 804 100.00 | #nst | 0.00 ~ 804 | 1.99 10.06 st 1.00 | 6.00 ~ 1163 100.00 | =nst | .00 ~ 1253 1.99 10.056
P 100kN/m%E#BZ5| 1.00| 000 ~ 048 10713 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 11.92 ~ 1340 10713 |3m%EiBZ% ~
s 1.00 | 048 ~ 827 100.00 | =St | 0.00 ~ 827\ 2.47 12.47 st 1.00 | 6.00 ~ 1192 100.00 | =nhst | .00 ~ 1340| 2.47 1247
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 716 91.09 | =St | 000 ~ 716\ 1.83 9.26 st 1.00 | 6.00 ~ 9.17 91.09 | =h4 | 5.00 ~ 9.17| 1.83 9.26
P 100kN/m%E#8z5 | 1.00 | 000 ~ 045 106.59 |3mEBz% ~ -] 100kN/mZ#8z% | 1.00 | 1055 ~ 11.80| 106.569 |3mZE#BZ5 ~
s 1.00 | 045 ~ 823 100.00 | #nlhst | 0.00 ~ 823|216 10.89 st 1.00 | 6.00 ~ 1055 100.00 | =nLst | 6.00 ~ 1180 2.16 10.89
9 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 740 94.39 | =hLs | 000 ~ 000 1.70 8.60 st 1.00 | 5.00 ~ 9.70 94.39 | =h4 | 5.00 ~ 9.70| 1.70 8.60
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhLst ~ Fhst ~ FhLst ~ st ~




